WINDOW GUARDS

*When installing window guards ALWAYS conform to local building codes.
Precision will not assume liability pertaining to window guard usage/installation.

Series No. Description

450 1/2" sq. Tubular pickets (4" extension)

5/8" sq. Horizontal bars

Apache spear point top & bottom

All mounting hardware sold separately

Black powder coat in stock (except cross hatch)

Product Line:

Note: always measure
G3810

width x height in ft.- in.

/R

Available stocked in black (BK) as shaded in blue below.
All other colors: Almond (AL), bronze (BZ), or white (WH) are only available as special order.

To order in a color other than black, replace the BK in the sample part numbers listed in the table below with the abbreviation of the desired color.

1'6" 2'0" 2'6" 3'0" 3'6" 4'0" 4'6" 5'0" 6'0"
1'6" 450BK1616 | 450BK2016 | 450BK2616 | 450BK3016 | 450BK3616 | 450BK4016 | 450BK4616 | 450BK5016 | 450BK6016
2'0" 450BK1620

2'6" 450BK1626 | 450BK2026 450BK3026 450BK4026 | 450BK4626 | 450BK5026 | 450BK6026
3'0" 450BK1630 450BK4630

3'6" 450BK1636 | 450BK2036 450BK3036 450BK4036 | 450BK4636 | 450BK5036 | 450BK6036
4'0" 450BK1640 450BK4640

4'6" 450BK1646 | 450BK2046 450BK3046 450BK4046 | 450BK4646 | 450BK5046 | 450BK6046

5'0" 450BK1650 450BK4650
6'0" 450BK1660 450BK2660 450BK3660 450BK4660 | 450BK5060

For Series 450:
4'6" wide and larger window guards have additional top and bottom locations for center brackets and if used will require PAEL LR GHEIRE LG (Ll & R4 B

4'6" high and larger window guards have additional horizontal cross bar and if used will require PAELLHIGHEINTET G (T £ F D ER 4R
Window guards beyond 5'0" wide have 2 horizontal scroll patterns. Window guards less than 2'0" in any dimension have modified scroll work.

Series No. Description L
" ! " ) SNKL
460 5/8" sq. Tubular pickets (4" extension) RIS
. 5/8" sq. Horizontal bars 45
Product Line: Apache spear point top & bottom ﬁ Note: alwavs measure
G3811 . \s
All mounting hardware sold separately Nl | width x height in ft.- in.
Special order for all sizes and colors IS

Determine the correct part number to order using the following sample number: 460BK3036C

460 = window guard series; BK = color (black); 30 = width in feet & inches (3'0"); 36 = height in feet & inches (3'6")

Available colors: Almond (AL), black (BK), bronze (BZ), or white (WH)

Standard widths: 1'6", 2'0", 2'6", 3'0", 3'6", 4'0", 4'6", 5'0", 6'0" & 8'0" | Standard heights: 1'6", 2'0", 2'6", 3'0", 3'6", 4'0", 4'6", 5'0" & 6'0"

For Series 460:
4'6" wide and larger window guards have additional top and bottom locations for center brackets and if used will require PAELLNHEINJET SR (Elad 2 H 0 ER (R

4'6" high and larger window guards have additional horizontal cross bar and if used will require PALLERGHEIRTETL SN (Ll £ 5 (1EE 48
Window guards beyond 5'0" wide have 2 horizontal scroll patterns. Window guards less than 2'0" in any dimension have modified scroll work.

Series No. Description \ Sl
455 1/2" sq. Solid steel pickets 4 s
. 5/8" sq. Horizontal bars “ >
Product Line: Square cut ends top & bottom 9 Note: always measure
G3812 . SIS pLe: always measur
All mounting hardware sold separately 1NN width x height in ft.- in.

Special order for all sizes and colors
Determine the correct part number to order using the following sample number: 455BK3036C
455 = window guard series; BK = color (black); 30 = width in feet & inches (3'0"); 36 = height in feet & inches (3'6")
Available colors: Almond (AL), black (BK), bronze (BZ), or white (WH)
Standard widths: 1'6", 2'0", 2'6", 3'0", 3'6", 4'0", 4'6", 5'0", 6'0" & 8'0" | Standard heights: 1'6", 2'0", 2'6", 3'0", 3'6", 4'0", 4'6", 5'0" & 6'0"
For Series 455:
4'6" wide and larger window guards have additional top and bottom locations for center brackets and if used will require PAELERGHEIRTE LGS (Ll 5 R4 R

4'6" high and larger window guards have additional horizontal cross bar and if used will require PAELETLEIN 18 /G (LT &5 DRI 4R
46 Window guards beyond 5'0" wide have 2 horizontal scroll patterns. Window guards less than 2'0" in any dimension have modified scroll work.

NPRECISION  (909) 379-0123 o Fax: (909) 379-0169 * Toll Free (866) 629-6636 PrecisionPLP.com

Screen & Security Products




CUSTOM WINDOW GUARD APPLICATIONS

(Product Line: Z9999)

*When installing window guards ALWAYS conform to local building codes.
Precision will not assume liability pertaining to window guard usage/installation.

Add to the price of a standard (or custom size) window guard. Mounting brackets shown for clarity and are not included.

- OP-WGAIR2
= = ? Window guard
=
C) a =
Jotmis—
————
. ~  OP-WGAIR1 4= \/\%’g/‘
Window guard 45‘ ”i{- F‘él -
o T
AIR CONDITIONER CUT-OUT AIR CONDITIONER CAGE
|8
= OP-WGPCKTS1
= X
L= =5 < Window guard
= N
QZ | a é nj ﬁ é = =
(6% -/ B g ®l
3 o= = OP-WGPROV1 "
o= = Provisions for ﬂ
= top & bottom - 5)
EZ =
brackets o
J=g
ARCHED PICKETS éé
OP-WGWELD1 5= e — =~
Weld mesh to
back/front OP-WGHINGE1 q n q e
S 5 g -
[l 2 ful E: - e — L
XX
% XXX

SECURITY MESH HINGED WINDOW GUARD

(Perforated or expanded)

PrecisionPLP.com (909) 379-0123 o Fax: (909) 379-0169 o Toll Free (866) 629-6636 NPRECISION

& Secur roducts




WINDOW GUARD ACCESSORIES

Window guard brackets All brackets stocked in white and black. Adobe, almond and bronze are made to order

8100 G8100 3" Standard offset window guard bracket kit
Pack consists of: 2 left hand, 2 right hand brackets and 4 each 5/16" x 3" one way lag screws.

8103 G8100 3" Standard center window guard bracket kit
Pack consists of: 2 center brackets and 2 each 5/16" x 3" one way lag screws. \

8106 G8100 Straight window guard bracket kit 8106 -
Pack consists of: 4 straight brackets and 4 each 5/16" x 3" one way lag screws.
8109 G8100 Flush window guard bracket kit

Pack consists of: 2 left hand, 2 right hand flush brackets and 4 each 5/16" x 3" one way lag screws.

8111 G8100 Flush center - black (4 per) w/screws W
Pack consists of: 2 flush center guard brackets and 4 each 5/16" x 3" one way lag screws. 8115

8113 G8100 1" Offset window guard bracket kit

Pack consists of: 2 left hand and 2 right hand brackets and 4 each 5/16" x 3" one way lag screws.
8115 G8100 6" Offset window guard bracket kit

Pack consists of: 2 left hand and 2 right hand brackets and 4 each 5/16" x 3" one way lag screws.
8116 G8100 Hinged center bracket 8116

Poly bag of 1 each; available in black.
8118 G8100 “T” bracket window guard kit

Pack consists of: 2 “T” brackets and 2 each 5/16" x 3" one way lag screws. /a‘
8119 G8100 3" x 12" Offset window guard bracket kit

8118

Hardware g
8117 G8100 Fire release hinge bracket kit

Pack consists of: 1 fire release bracket and 1 each 5/16" x 3" one way lag screws;

available in almond, black and white. M
8124 G8100

Fire release shielded cable kit 8117
Order lag screws separately; available in black and white.

Part No. Product Line Pack QTY Description

Tools __

8900 G8100 1 One way driving tool @@i@D
8901 G8100 1 Adapter, used for 1/2" square drive o 8900 8901
Fasteners Available in adobe, almond, black, bronze and white

8130-2-4PK G8100 4 5/16" x 2" lag screws

8130-3-4PK G8100 4 5/16" x 3" lag screws Lag screw

8130-4-4PK G8100 4 5/16" x 4" lag screws

8130-2-100PK G8100 100 5/16" x 2" lag screws

8130-3-100PK G8100 100 5/16" x 3" lag screws

8130-4-100PK G8100 100 5/16" x 4" lag screws

*Sample number for fasteners: 8130AD3-4PK for a pack of 4 adobe colored 3" lag screws

SECURITY MESH GUARD
Security mesh guard features:

Part No. Product Line Description « Strong 16 gauge expanded metal
DG30 G3813 23-1/4" x 43", Fits 30" door e 1" angle - steel frame
DG32 G3813 25-1/4" x 43", Fits 32" door e Black powder coat standard

DG36 G3813 29-1/4" x 43", Fits 36" door e Complete with tabs and four
1" one-way screws

,v
O
55
X4
%55
’0
)
XX

X2

%
%
et
be%e?
XX
Petoteete:
ZAKKS]

9a%

TR
KRS
K
35S
3R
SRR
fosstotetetetetetel
3RS

S RERRRILLRS

IR
SILLRRRS
SRS

5

%5

%S

RRS

SR

o
X
R
%8985
255
Dodess
AQ?Q.

2%
55
5%
5%
290%S
b
QKKK
2008,
9a%

ST
KK
et

XX

23S

doedetede!

doedede!
SRR
1909a%2%%3

MESH GUARD OPTIONS

Part No. ProductlLine Description

DG11 — Stand-off tabs - additional

DG100 G3813 1/2" Expanded metal (16 ga.)

DG200 G3813 Perforated metal (24 ga.)

DG300 G3813 Solid metal (24 ga.) K/_

NPRECISION  (909) 379-0123 o Fax: (909) 379-0169 * Toll Free (866) 629-6636 PrecisionPLP.com

y Products.




